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#include <tk/tkernel.h>
#include “init_task.n”

#include “mcu.h”

#define USE.WDG 0

#if USE_WDG ==

#define WDG_CTL (k(volatile UW *)0x40011008)
#define WDG_LCK  (*(volatile UW *)0x40011C00)
#endif

ID LED1_ID;
ID LED2_ID;
ID LED3_ID;

extern void _reset( void );

EXPORT int main( void )
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{

#if USE_WDG ==
WDG_LCK = Ox1acceb51;
WDG_LCK = 0xeb5331aae;
WDG_CTL = 0x00000000;

#endif

_reset();
while(1);

void delay (void)

{
Int i;
For(i=0;i<200000;i++){}

/Aeskokokokskokokokokokokokokokokokokoskokokokokokokokskokokokskokokokskokokokskok sk skskokskokskokskokskokskokoksk sk oksksk ok ok kokok ok kok /

/* LED1 task */

/Aeskokokokskokokokokokokokokokokokokoskokokokoskokokokskokokokskokokokskokokokskok sk okskok ko skokskokskokskokoksk sk okksk ok ok sk ok ok ok kok /

Static void led1( INT stacd, VP exinf )

{
printf("===Start led10¥n”);
FM3_GPIO->PDOR3 "= 0x0004;

printf(“led1: goes into DORMANT state¥n”);

printf("===End led10)¥n”);
FM3_GPIO->PDOR3 "= 0x0004;

@ /* Exit Task */

/Aeskokokokskokokokokokokokokokokokokokokskokoskokskokskokokskskokokokskokok sk skokskskskokskokskok sk ok skokskokskok sk ok skok sk ok skokkokkok /

/* LED2 task */

/Aeskokokokskokokokokokokokokokokokokokokskokokokkokskokokskskokokokskokok sk skokskskskokskokskokskokskokskokskok sk ok skok sk ok skokkokkok /

Static void led2( INT stacd, VP exinf )
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{
ER ercd;

printf(“===Start led2()¥n");

FM3_GPIO->PDOR3 "= 0x0008;

printf(“led2: starts led1¥n”);

Ercd = @) /* Start Task LED1 */
if(ercd '= E_OK){while(1){}}

printf(“led2: goes into DORMANT state¥n”);

printf("===End led2()¥n”);

FM3_GPIO->PDOR3 "= 0x0008;

@) /% Exit Task */

/Aeskokokokskokokokokokokokokokokokokoskokokokoskokokokskokokskskokokokskokok sk skok sk skskokskokskokkokskok ko skok sk ok skok sk ok skokkokkok /

/% LED3 task */

/Aeskokokokskokokokokokokokokokokokokokokokokoskokokokskokokskoskokokokskokok ok skokskskskokskokskokkokskokskokskok sk ok skokkokskokkokkok /

Static void led3( INT stacd, VP exinf )
{

ER ercd;

printf("===Start led3()¥n");
FM3_GPIO->PDOR3 "= 0x0010;
While(1)

{
printf(“led3: starts led2¥n”);

ercd = ® /* Start Task LED2 */
if(ercd '= E_OK){while(1){}}
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/skokokokskokokokokokokokokokokokokoskokokokoskokokokskokokokskokokokskokokokskokskokskok ko skokskokkokskokok sk ko skok sk ok sk ok ok ok kok /

/* Initialize task */

/Aeskokkokskokokokokokokokokokokokokoskokokokoskokokokskokskokskokokokskokokokskok ok skskok ko skokskokskokskokoksk sk okskok sk ok sk ok ok ok kok /

void uinit_task(void)

{
ER ercd;

T_CTSK ctsk;

static INT led1_stack[0x400/4];
static INT led2_stack[0x400/4];
static INT led3_stack[0x400/4];

SysTick_init();
sys_init();

LCD_sys._init();
LCD_init();
LCD _reset();

LCD_gotoxy(0,0);
LCD_sendstring("uT-Kernel”);
LCD_gotoxy(0,1);
LCD_sendstring(” start&priority”);

ctskexinf = (VP)1;

ctsk.tskatr = TA_ HLNG | TA_RNGO | TA_USERBUF;
ctsk.task = ledl;

ctsk.itskpri = 1;

ctsk.stksz = (W)sizeof(led1_stack);

ctsk.bufptr = led1_stack;

LED1 ID = tk_cre_tsk(&ctsk);

ctskeexinf = (VP)2;
ctsk.tskatr = TA_ HLNG | TA.RNGO | TA_USERBUF;
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157 ctsk.task = led2;

158 ctsk.itskpri = 2;

159 ctsk.stksz = (W)sizeof(led2_stack);
160 ctsk.bufptr = led2_stack;

161 LED2.ID = tk_cre_tsk(&ctsk):

162

163  ctskexinf = (VP)3;

164  ctsktskatr = TA HLNG | TA.RNGO | TA_.USERBUF;
165 ctsk.task = led3;

166 ctsk.itskpri = 3;

167 ctsk.stksz = (W)sizeof(led3_stack);
168 ctsk.bufptr = led3_stack;

169 LED3.ID = tk_cre_tsk(&ctsk):

170

171 ercd = @ /* Start Task LED3 */
172 if(ercd '= E_OK){while(1){}}

173 }



HE2 EBERFSEERK

B Joozy boF LS
C:¥ut_realos¥utkernel¥7-M¥uT-Kernel_Samples¥slp_wu
B O35 LH8E

- ARV, ledl (BEE6), led2(BEED), ledd(BEXRE D MoBRIND
- PHEAIEAZ X4 uinit_task T2 R EERIICER L,
DA RIICEKRENDETHD.

e R EERLEzL, SEXXAVERFLREICSERT L.

led1 2% led2 2% led3 #RX%
BxE:6 B%EE:5 BxE:4
< A= > < A= > < AZ—p )
«—— < «—

led2 () B2AY B2AY

KAV ER ERFS5 ERFS5
\ 4
led3 ()
KRR

X2 slpwup DEAZ2RIO7O0—F¥—Fk



S
*

micro T—Kernel

Copyright (C) 2006-2008 by Ken Sakamura. All rights reserved.

micro T—Kernel is distributed under the micro T—License.

micro T-REALOS/M3

Copyright (C) FUJITSU SEMICONDUCTOR LIMITED 2010 All rights reserved.
This product uses the Source Code of micro T-Kernel under the micro
T-License granted by the T-Engine forum (http://www.t—engine.org).

Last update : 2010/05/11

Version: 1.01.00
Released by T-Engine Forum(http://www.t—engine.org) at 2008,/02/25.

¥ ¥ %X X X %X X ¥ X X ¥ X X ¥ %X ¥ ¥ ¥

*
~

#include <tk/tkernel.h>
#include “init_task.n”

#include “mcu.h”

#define USE.WDG 0

#if USE_WDG ==

#define WDG_CTL (k(volatile UW *)0x40011008)
#define WDG_LCK  (*(volatile UW *)0x40011C00)
#endif

ID LED1_ID;
ID LED2_ID;
ID LED3_ID;

extern void _reset( void );

EXPORT int main( void )
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{

#if USE_WDG ==
WDG_LCK = Ox1acceb51;
WDG_LCK = 0xeb5331aae;
WDG_CTL = 0x00000000;

#endif

_reset();
while(1);

/eskokokokskokokokokokokokokokokokokoskokokokskokokokskokokokskokokokskokok ok skok ok kskokokokskokskokskokskokkskkokksk ok ok sk ok ok ok kok /

/* LED1 task */

/eskokokokskokokokokokokokokokokokokoskokokokoskokokokskokokokskokokokskokokokskokskokskok ko skokskokskokskokokskskokkskkk sk ok ok ok kok /

static void led1( INT stacd, VP exinf )

{
ER ercd;

while(1)

{
printf(“led1: RUNNING¥n");
FM3_GPIO->PDOR3 "= 0x0004;

printf(“led1: WAKEUP led2¥n”);
FM3_GPIO->PDOR3 "= 0x0004;

ercd = @ /* Wake Up Task LED2 */
iflercd '= E_OK){while(1){}}

/Aeskokokokskokokokokokokokskokokokokokokkokoskokskokskokokskskokokokskokok ok skokskskskokskokskok sk ok skokskokskokkokskok ko skokkokkok /

/* LED2 task */

/Aeskokokokskokokokokokokokokokokokokokokskokokokskokskokokskskokokokskokok sk skok sk skskokkokskok sk ok skokskokskok sk ok ko kokskokkokkok /

static void led2( INT stacd, VP exinf )

{
ER ercd;
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while(1)

{
printf("led2: RUNNING¥n");
FM3_GPIO->PDOR3 "= 0x0008;

printf(“led2: SLEEP¥n");
FM3_GPIO->PDOR3 "= 0x0008:

ercd = ) /* Sleep Task (No Timeout) */
iflercd '= E_OK){while(1){}}

printf("led2: RUNNING¥n");
FM3_GPIO->PDOR3 "= 0x0008:

printf(“led2: WAKEUP led3¥n”):
FM3_GPIO->PDOR3 "= 0x0008;

ercd = ® /* Wake Up LED3 */
if(ercd '= E_OK)Y{while(1){}}

}

//Aeskokokokskokokokokokokokskokokokokokokokokoskokokokskokokskskokokokskokok sk skok sk skskokskokskok sk ok skokskokskokkokskokkokskok ko kok /

/% LED3 task */

/Aeskokokokskokokokokokokokokokokokokoskokokokoskokskokskokokskskokokokskokok sk skok sk skskokskokskok sk ok skokskokkokkokskok sk ok skokokokkok /

static void led3( INT stacd, VP exinf )

{
ER ercd;

while(1)

{
printf(“led3: RUNNING¥n™);
FM3_GPIO->PDOR3 "= 0x0010;

printf(“led3: SLEEP¥n");
FM3_GPIO->PDOR3 "= 0x0010;

ercd = ® /* Sleep Task (No Timeout) */

11
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iflercd = E_OK){while(1){}}

/eskokokokskokokokokokokokokokokokokoskokokokoskokokokskokokokskokokokskokokokskokok sk skokokokskokskokskokskokokokkokksk ok ok sk ok ok ok kok /

/* Initialize task */

/Aeskokokokskokokokokokokokokokokokokoskokokokskokokokskokokokskokokokskokok ok skok ok skskokokokskokskokskokskokoksk sk okkok sk ok sk ok ok ok kok /

void uinit_task(void)

{
ER ercd;

T_CTSK ctsk;

static INT led1_stack[0x400/4]:
static INT led2_stack[0x400/4]:
static INT led3_stack[0x400/4]:

SysTick_init();
sys_init();

LCD_sys._init();
LCD._init();
LCD_reset();

LCD_gotoxy(0,0);
LCD_sendstring(“uT—Kernel”);
LCD_gotoxy(0,1);
LCD_sendstring(”sleep&wake—up”);

ctsk.exinf = (VP)1;

ctsk.tskatr = TA HLNG | TA_-RNGO | TA_USERBUF;
ctsk.task = led1;

ctsk.itskpri = 6;

ctsk.stksz = (W)sizeof(led1_stack);

ctsk.bufptr = led1_stack;

LED1 ID = tk_cre_tsk(&ctsk);

ctskeexinf = (VP)2;
12
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170
171
172
173
174
175
176
177
178
179
180 }

ctsktskatr = TA HLNG | TA_-RNGO | TA_USERBUF;
ctsk.task = led2;

ctsk.itskpri = 9;

ctsk.stksz = (W)sizeof(led2_stack);

ctsk.bufptr = led2_stack;

LED2.ID = tk_cre_tsk(&ctsk):;

ctsk.exinf = (VP)3;

ctsktskatr = TA_HLNG | TA_-RNGO | TA_USERBUF;
ctsk.task = led3;

ctsk.itskpri = 4;

ctsk.stksz = (W)sizeof(led3_stack);

ctsk.bufptr = led3_stack;

LED3 ID = tk_cre_tsk(&ctsk);

ercd = tk_sta_tsk(LED3_ID, NULL):
iflercd '= E_OK){while(1){}}

ercd = tk_sta_tsk(LED2_ID, NULL):
iflercd '= E_OK){while(1){}}

ercd = tk_sta_tsk(LED1 ID, NULL):
iflercd '= E_OK){while(1){}}

13
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* micro T-Kernel
*
* Copyright (C) 2006-2008 by Ken Sakamura. All rights reserved.
* micro T—Kernel is distributed under the micro T-License.
*
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*
* Copyright (C) FUJITSU SEMICONDUCTOR LIMITED 2010 All rights reserved.
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*
*
* Version:  1.01.00
* Released by T-Engine Forum(http://www.t-engine.org) at 2008/02/25.
*
*
*/
/%
* Init_task.c (usermain)
* User Main
*/

#include <tk/tkernel.h>

#include “init_task.n”

#include “mcu.h”

#define USE_WDG 0

#if USE_WDG ==

#define WDG_CTL (*(volatile UW *)0x40011008)

#define WDG_LCK (*(volatile UW *)0x40011C00)
#tendif

16
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ID SEM1.ID;
ID LED1.ID;
ID LED2_ID;
ID LED3_ID;
ID PSW1_ID;

extern void _reset( void );

EXPORT int main( void )

{

#if USE_WDG ==
WDG_LCK = Ox1acceb51;
WDG_LCK = 0xeb5331aae;
WDG_CTL = 0x00000000;

#endif

_reset();
while(1);

/Aeskokkokskokokokokokokokokokokokokokokokokskokokokskokokskskokokokskokok sk skok sk skskokkokskok sk ok skokskokskok sk ok skokkokskokkokkok /

/* LED1 task */

/Aeskokokokskokokokokokokokokokokokokokokokokoskokokokskokokskskokokokskokok sk skokskskskokskokskok sk okskokskokskok sk ok skok ko skokkokkok /

static void led1( INT stacd, VP exinf )

{
ER ercd;

while(1){
ercd = @) /* Wait Semaphore x 1 */
if(ercd '= E_OK)Y{while(1){}}

FM3_GPIO->PDOR3 = 0x001c;
FM3_GPIO->PDOR3 "= 0x0004;

ercd = ® /* Signal Semaphore x 1 */
iflercd '= E_OK){while(1){}}

17
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117

/eskokokokskokokokokokokokokokokokokoskokokokskokokokskokokokskokokokskokokokskokokokskok ko skokskokskokkokkok sk okksk ok ok sk ok ok ok kok /

/* LED2 task */

/eskokokokskokokokokokokokokokokokokoskokokokskokokokskokokokskokokokskokokokskok sk skskokokokskokskokskokskokokskkokksk ok ok sk ok ok ok kok /

static void led2( INT stacd, VP exinf )

{
ER ercd;

while(1){

ercd = ® /* Wait Semaphore x 2 */
if(ercd 1= E_OK)while(1){}}

FM3_GPIO->PDOR3 "= 0x000c;

ercd = @ /* Signal Semaphore x 2 */
iflercd '= E_OK){while(1){}}
}

/eskokokokskokokokokokokokokokokokokoskokokokoskokokokskokskskskokokokskokok sk skok sk skskokskokskok sk ok skokskokskok sk ok skokkokskokkokkok /

/% LED3 task */

/Aeskokokokskokokokokokokokokokokokokoskokokokoskokokokskokokskskokokokskokok sk skokskokskokskokskok sk ok skokskokskokkokskok sk ok skok ok ok kok /

static void led3( INT stacd, VP exinf )

{
ER ercd;

while(1){

ercd = ® /* Wait Semaphore x 3 */
if(ercd '= E_OK){while(1){}}

FM3_GPIO->PDOR3 "= 0x0018;

/Aeskokokokskokokokokokokokokokokokokokokokokokokokokskokokskskokokokskokok sk skok sk skskokskokskok sk ok skokskokokok sk ok skok sk ok skokkokkok /

18



118 /* Switch1 task */
119 /skskoksoksoksoksoksokeoksoksorsoksoksoksoksoksokoksoksoksokokokokoksoksokokokdokdokdokdokdokdok /
120

121 static void pswi1( INT stacd, VP exinf)
122 {

123 ER ercd;

124

125 int sw1=0;

126 int count;

127 while(1){

128 if(sw1)

129 {

130 if(FM3_GPIO->PDIR5_f.P0)

131 {

132 count++;

133 if(count>3)

134 {

135 Count=0;

136 sw1=0;

137 }

138 }

139 Else

140 {

141 count=0;

142 1

143 }

144 Else

145 {

146 if('FM3_GPIO->PDIR5_f.P0)

147 {

148 count++;

149 if(count>3)

150 {

151 ercd = ® /* Signal Semaphore x 1 */
152 if(ercd = E_OK){while(1){}}
153 count=0;

154 swi=1;

155 }

156 }

19



157 Else

158 {

159 count=0;

160 }

161

162 }

163}

164 }

165

166 /*kkkoksorksorsoksksoksoksksoksoroksorsokoksorskoksokkskoksorsksoksokoksoksokoksok ook ook ok kokokokok /
167 /* Initialize task */

168 /kkkoksokksorsoksksoksoksksoksorokorsooksokskoksokskskoksorsksoksokokoksokoksok ook kokok ok kookokok /
169

170 void uinit_task(void)

171 {

172 T_CTSK ctsk;

173 T_CSEM csem;

174 static INT led1_stack[0x400/4];
175 static INT led2_stack[0x400/4];
176 static INT led3_stack[0x400/4];
177 static INT psw1_stack[0x400/4];
178

179 /*system clock set*/

180 SysTick_init();

181 sys_init();

182

183 LCD_sys._init();

184 LCD_init0);

185 LCD_reset();

186

187 LCD_gotoxy(0,0);

188 LCD_sendstring(“ut-Kernel”);
189 LCD_gotoxy(0,1);

190 LCD_sendstring(”semaphore”);
191

192 csem.sematr = TA_TFIFO | TA FIRST;
193 csem.isement = 0;

194 csem.maxsem = 3;

195 SEM11ID = ® /* Create Semaphore */

20



196
197
198
199
200
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233 }

ctskexinf = (VP)1;

ctsk.tskatr = TA HLNG | TA_RNGO | TA_USERBUF;
ctsk.task = ledT;

ctsk.itskpri = 1;

ctsk.stksz = (W)sizeof(led1_stack);

ctsk.bufptr = led1_stack;

LED1 ID = tk_cre_tsk(&ctsk):;

ctskexinf = (VP)2;

ctsk.tskatr = TA HLNG | TA_RNGO | TA_USERBUF;
ctsk.task = led2;

ctsk.itskpri = 2;

ctsk.stksz = (W)sizeof(led2_stack);

ctsk.bufptr = led2_stack;

LED2.ID = tk_cre_tsk(&ctsk):;

ctsk.exinf = (VP)3;

ctsk.tskatr = TA HLNG | TA_RNGO | TA_USERBUF;
ctsk.task = led3;

ctsk.itskpri = 3;

ctsk.stksz = (W)sizeof(led3_stack);

ctsk.bufptr = led3_stack;

LED3.ID = tk_cre_tsk(&ctsk):;

ctskexinf = (VP)4;

ctsk.tskatr = TA_HLNG | TA_RNGO | TA_USERBUF;
ctsk.task = pswl;

ctsk.itskpri = 4;

ctsk.stksz = (W)sizeof(psw1_stack);

ctsk.bufptr = pswl_stack;

PSW1 ID = tk_cre_tsk(&ctsk);

Tk_sta_tsk(LED1_ID, NULL);
Tk_sta_tsk(LED2_ID, NULL);
tk_sta_tsk(LED3_ID, NULL);
tk_sta_tsk(PSW1_ID, NULL);
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S
*

*
* micro T-Kernel
*
* Copyright (C) 2006-2008 by Ken Sakamura. All rights reserved.
* micro T—Kernel is distributed under the micro T-License.
*
* micro T-REALOS/M3
*
* Copyright (C) FUJITSU SEMICONDUCTOR LIMITED 2010 All rights reserved.
* This product uses the Source Code of micro T-Kernel under the micro
* T-License granted by the T-Engine forum (http://www.t—engine.org).
* Last update : 2010/05/11
*
*
* Version:  1.01.00
* Released by T-Engine Forum(http://www.t-engine.org) at 2008/02/25.
*
*
*/
/%
* init_task.c (usermain)
* User Main
*/

#include <tk/tkernel.h>

#include “init_task.n”

#include “mcu.h”

#define USE_WDG 0

#if USE_WDG ==

#define WDG_CTL (*(volatile UW *)0x40011008)

#define WDG_LCK (*(volatile UW *)0x40011C00)
#tendif
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ID FLG1.ID;
ID LED1.ID;
ID PSW1_ID;

UINT flg=0;

Extern void _reset( void );

EXPORT int main( void )

{

#if USE_WDG ==
WDG_LCK = Ox1acceb51;
WDG_LCK = 0xeb5331aae;
WDG_CTL = 0x00000000;

#endif

_reset();
While(1);

/Aeskokkokskokokokokokokokokokokokokokokokokskokokokskokokskskokokokskokok sk skok sk skskokkokskok sk ok skokskokskok sk ok skokkokskokkokkok /

/* LED1 task */

/Aeskokokokskokokokokokokokokokokokokokokokokoskokokokskokokskskokokokskokok sk skokskskskokskokskok sk okskokskokskok sk ok skok ko skokkokkok /

Static void led1( INT stacd, VP exinf )

{
UINT ptn;
ER ercd;

while(1){

/* wait flag 0x3 OR*/
printf("WAIT FLAG PTN 0x3 OR¥n");

Ercd = ® /* Wait Flag 3 OR */
Iflercd '= E_OK){while(1){}}

printf("RECEIVE FLAG 0x%0x¥n” flg);
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79 FM3_GPIO->PDOR3 = 0x001c;

80 FM3_GPIO->PDOR3 "= 0x0004;
81
82 Ercd = ® /* Clear Flag */
83 If(ercd '= E_OK){while(1){}}
84
85 /* wait flag 0x3 OR*/
86 printf("WAIT FLAG PTN 0x3 OR¥n");
87
88 Ercd = D /* Wait Flag 3 OR */
89 If(ercd '= E_OK){while(1){}}
90
91 Printf("RECEIVE FLAG 0x%0x¥n” flg);
92
93 FM3_GPIO->PDOR3 "= 0x0008;
94
95 Ercd = ® /* Clear Flag */
96 Iftercd '= E_OK){while(1){}}
97
98 Printf("<RESET FLAG PTN>¥n");
99 flg=0;
100
101 /% wait flag 0x3 AND*/
102 Printf("WAIT FLAG PTN 0x3 AND¥n");
103
104 Ercd = ® /% Wait Flag 3 AND */
105 if(ercd '= E_OK)Y{while(1){}}
106
107 Printf("RECEIVE FLAG 0x%0x¥n” flg);
108
109 FM3_GPIO->PDOR3 "= 0x0010;
110
111 Ercd = ©) /* Clear Flag */
112 iflercd '= E_OK){while(1){}}
113
114 Printf("<RESET FLAG PTN>¥n");
115 flg=0;

116 }
117 }
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118

119 /kskoksoksoksoksoksoksoksoksorsoksoksoksoksoksokokoksoksokokokokoksoksokdokdokdokdokokdokdokdok /
120 /* Switch1 task */
121 /kskoksoksorsokorsosoksokoroksoksoksoksoksokokoksoksokokokoksokoksokdoksokdokokokdokdokdok /
122

123 static void pswi1( INT stacd, VP exinf )

124 {

125 ER ercd;

126

127 Int sw1=0;

128 Int count;

129

130 while(1){

131 if(sw1)

132 {

133 if(FM3_GPIO->PDIRS5_f.P0)

134 {

135 count++;

136 if(count>3)

137 {

138 count=0;

139 swi1=0;

140 }

141 1

142 Else

143 {

144 count=0;

145 }

146 }

147 Else

148 {

149 If('IFM3_GPIO->PDIR5_f.P0)

150 {

151 count++;

152 if(count>3)

153 {

154 flgt++;

155 ercd = ® /% Clear Flag */
156 if(ercd = E_OK){while(1){}}
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176
177
178
179
180
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188
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190
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192
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194
195

Printf("<FLAG PTN 0x%0x>¥n" flg);

ercd = @ /* Set Flag to flg */
iflercd '= E_OK){while(1){}}

count=0;

swl=1;

Else

count=0;

/eskokokokskokokokokokokokokokokokokokokokokskokokokskokokskskokokokskokok sk skok sk skskokskokskok sk ok skokskokskokkokskokkokskokkokkok /

/* Initialize task */

/Aeskokokokskokokokokokokokokokokokokoskokokokskokokokskokokskskokokokskokok sk skok sk skskokskokskok sk ok skokskokokok sk ok skok sk ok skokkokkok /

void uinit_task(void)
{
T_CTSK ctsk;
T_CFLG cflg;
static INT led1_stack[0x400/4];
static INT psw1_stack[0x400/4];

/*symtem clock set*/
SysTick_init();
sys_init();

LCD_sys._init();
LCD_init();
LCD_reset();

LCD_gotoxy(0,0);
27



196
197
198
199
200
201
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203
204
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223 }

LCD_sendstring(”ut-Kernel™);
LCD_gotoxy(0,1);
LCD_sendstring(“event flag”);

cflg.exinf = (VP)1;

cflgflgatr = TA_TFIFO;

cflg.iflgptn = O;

FLG1.D = ® /* Create Event Flag */

ctsk.exinf = (VP)1;

ctsk.tskatr = TA HLNG | TA.RNGO | TA_.USERBUF;
ctskitask  =ledl;

ctsk.itskpri = 1;

ctsk.stksz = (W)sizeof(led1_stack);

ctsk.bufptr = led1_stack;

LED1 ID = tk_cre_tsk(&ctsk);

ctsk.exinf = (VP)2;

Ctsk.tskatr = TA_HLNG | TA_RNGO | TA_USERBUF;
ctsk.task = pswl;

ctsk.itskpri = 2;

ctsk.stksz = (W)sizeof(psw1_stack);

ctsk.bufptr = pswl_stack;

PSW1_ID = tk_cre_tsk(&ctsk);

tk_sta_tsk(LED1_ID, NULL);
tk_sta_tsk(PSW1_ID, NULL);
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S
*

*
* micro T-Kernel
*
* Copyright (C) 2006-2008 by Ken Sakamura. All rights reserved.
* micro T—Kernel is distributed under the micro T-License.
*
* micro T-REALOS/M3
*
* Copyright (C) FUJITSU SEMICONDUCTOR LIMITED 2010 All rights reserved.
* This product uses the Source Code of micro T-Kernel under the micro
* T-License granted by the T-Engine forum (http://www.t—engine.org).
* Last update : 2010/05/11
*
*
* Version:  1.01.00
* Released by T-Engine Forum(http://www.t-engine.org) at 2008/02/25.
*
*
*/
/%
* init_task.c (usermain)
* User Main
*/

#include <tk/tkernel.h>

#include “init_task.n”

#include “mcu.h”

#define USE_WDG 0

#if USE_WDG ==

#define WDG_CTL (*(volatile UW *)0x40011008)

#define WDG_LCK (*(volatile UW *)0x40011C00)
#tendif
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ID MBX1_ID;
ID RCV1.ID;
ID SND1_ID;

UINT flg=0;

extern void _reset( void );

EXPORT int main( void )

{

#if USE_WDG ==
WDG_LCK = Ox1acceb51;
WDG_LCK = 0xeb5331aae;
WDG_CTL = 0x00000000;

#endif

_reset();
while(1);

/Aeskokkokskokokokokokokokokokokokokokokokokskokokokskokokskskokokokskokok sk skok sk skskokkokskok sk ok skokskokskok sk ok skokkokskokkokkok /

/* RECEIVE MESSAGE TASK

/Aeskokokokskokokokokokokokokokokokokokokokokoskokokokskokokskskokokokskokok sk skokskskskokskokskok sk okskokskokskok sk ok skok ko skokkokkok /

static void rev1( INT stacd, VP exinf )

{
ER ercd;

typedef struct
{
T_MSG header;
UB msg_cont[64];
} mbx_tag;

mbx_tag* rx_mail;

while(1){
ercd = ®
if(ercd '= E_OK)Y{while(1){}}

/* Recieve Mailbox */
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printf("#Receive Message = %s¥n”, rx_mail->msg_cont);

LCD_gotoxy(0,0);
LCD_sendstring("Message: “);
LCD_gotoxy(0,1);
LCD_sendstring(rx_mail->msg_cont);

/eskokkokskokokokokokokokokokokokokoskokokokoskokokokskokokokskokokokskokok ok skok sk sk skokokokskokskokskokskokoksk sk okk sk ok ok sk ok ok ok kok /

/* SEND MESSAGE TASK

/Aeskokokokskokokokokokokokokokokokokoskokokokokokokokskokokokskokokokskokokokskok sk skskokokokskok sk ok kokskokoksk sk okksk ok ok kok ok ok kok /

static void snd1( INT stacd, VP exinf )
{

ER ercd;

UB str[] = “T-Engine Forum”;

Typedef struct {
T_MSG header;
UB msg_cont[64];

} mbx_tag;

mbx_tag tx_mail;

strepy(tx_mail.msg _cont, str);

while(1){
printf("#Send Message¥n”);
Ercd = @ /* Send Mailbox */

if(ercd '= E_OK)Y{while(1){}}

}

/Aeskokokokskokokokokokokokokokokokokokokokokoskokskokskokokskoskokokokokokok ok skokskskskokskokskok sk ok skokskokskok sk ok skok sk ok skokkokkok /

/* Initialize task */

/Aeskokokokskokokokokokokokokokokokokoskokokokoskokokokskokokskoskokokokokokok sk skokskokskokskokskok sk okskokskokskok sk ok skokkokskokokokkok /

void uinit_task(void)
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118 {

119 ER ercd;

120

121 T_CTSK ctsk;

122 T_CMBX cmbx;

123 static INT rcv1_stack[0x400/4];

124 static INT snd1_stack[0x400/4];

125

126 /*system clock set*/

127 SysTick_init();

128 sys_init();

129

130 LCD_sys._init();

131 LCD_init();

132 LCD_reset();

133

134 LCD_gotoxy(0,0);

135 LCD_sendstring(“ut-Kernel”);

136 LCD_gotoxy(0,1);

137 LCD_sendstring(“mailbox”);

138

139 cmbx.exinf = (VP)1;

140 cmbx.mbxatr = TA_TFIFO;

141 MBX1 ID = ® /* Create Mailbox */
142

143 ctsk.exinf = (VP)1;

144 ctsk.tskatr = TA_HLNG | TA_RNGO | TA_USERBUF;
145 ctsk.task =revl;

146 ctsk.itskpri = 1;

147 ctsk.stksz = (W)sizeof(rcv1_stack);
148 ctsk.bufptr = rcvi1_stack;

149 RCV1.ID = tk_cre_tsk(&ctsk);

150

151 ctskexinf = (VP)2;

152 ctsk.tskatr = TA_HLNG | TA_RNGO | TA_USERBUF;
153 ctsk.task = sndl;

154 ctsk.itskpri = 2;

155 ctsk.stksz = (W)sizeof(snd1_stack);
156 ctsk.bufptr = snd1_stack;
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158
159
160
161
162
163 }

SND1_ID = tk_cre_tsk(&ctsk);

ercd = tk_sta_tsk(RCV1_ID, NULL);

iflercd '= E_OK){while(1){}}

ercd = tk_sta_tsk(SND1_ID, NULL);

iflercd '= E_OK){while(1){}}
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S
*

*
* micro T-Kernel
*
* Copyright (C) 2006-2008 by Ken Sakamura. All rights reserved.
* micro T—Kernel is distributed under the micro T-License.
*
* micro T-REALOS/M3
*
* Copyright (C) FUJITSU SEMICONDUCTOR LIMITED 2010 All rights reserved.
* This product uses the Source Code of micro T-Kernel under the micro
* T-License granted by the T-Engine forum (http://www.t—engine.org).
* Last update : 2010/05/11
*
*
* Version:  1.01.00
* Released by T-Engine Forum(http://www.t-engine.org) at 2008/02/25.
*
*
*/
/%
* init_task.c (usermain)
* User Main
*/

#include <tk/tkernel.h>

#include “init_task.n”

#include “mcu.h”

#define USE_WDG

#if USE_WDG ==

#define WDG_CTL (*(volatile UW *)0x40011008)

#define WDG_LCK (*(volatile UW *)0x40011C00)
#tendif
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ID LED1.ID;
ID LED2_ID;

extern void _reset( void );

EXPORT int main( void )

{

#if USE_WDG ==
WDG_LCK = Oxlacceb51;
WDG_LCK = 0xeb5331aae;
WDG_CTL = 0x00000000;

#endif

_reset();
While(1);

/eskokkokskokokokokokokokokokokokokokokokokokokkokskokokokskokokokskokokokskok sk skskokskokskokskokskokskokokokkokksk sk ok sk ok ok ok kok /

/% LED1 task

/eskokokokskokokokokokokokokokokokokoskokokokokokokokskokokokskokskokskokok ok skok ok skskokskokskok sk ok skok sk okoksk ke okksk sk ok skok ok ok kok /

static void led1( INT stacd, VP exinf )

{
ER ercd;

while(1)
{

Ercd = tk_slp_tsk(TMO_FEVR):;

if(ercd '= E_OK)Y{while(1){}}

FM3_GPIO->PDOR3 "= 0x0004;

/Aeskokokokskokokokokokokokokokokokokoskokokokokokskokskokokskskokokokkokok sk skokskskokokskokskokkokskokskokskok sk ok skok sk ok skokkokkok /

/% LED2 task

/Aeskokokokskokokokokokokokokokokokokokokokokoskokokokskokokskskokokokskokok sk skokskskskokskokskok sk ok skokskokkok sk ok skokkokskokkokkok /

static void led2( INT stacd, VP exinf )
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ER ercd;

while(1)

{
Ercd = tk_slp_tsk(TMO_FEVR);
iflercd '= E_OK){while(1){}}

FM3_GPIO->PDOR3 "= 0x0008;

/Aeskokokokskokokokokokokokokokokokokoskokokokskokokokskokokokskokokokskokok ok skokskskskokskokskokskokskokskokokskkoksk sk kok sk ok ok ok kok /

/* SWITCH1 task */

/Aeskokokokskokokokokokokokokokokokokoskokokokskokkokskokokokskokokokskokokokskok sk sk skokskokskokskokkokskokokskkoksksk ok ok sk ok ok ok k ok /

static void psw1(void)

{
ER ercd;

ercd = tk_wup_tsk(LED1_ID);
iflercd '= E_OK){while(1){}}

/Aeskokokokskokokokokokokokokokokokokokokokokoskokokokskokokskskokokokskokok sk skok sk skskokskokskok sk okskokskokskok sk ok skokkokskokkokkok /

/* SWITCH2 task */

/xkkrskskskokokkskokokskskkokokskkskkokskskokokskskokskokskokkskoksokskskokoksksokdokoksk ok skokokok ok /
static void psw2(void)

ER ercd;

ercd = tk_wup_tsk(LED2_ID);
iflercd '= E_OK){while(1){}}
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/skokokokskokokokokokokokokokokokokoskokokokskokokokskokokokskokokokskokokokskok sk skskok ko skok sk ok sk okkokokskkokkok ok ok sk ok ok ok kok /

/* INTERRUPT HANDLER

/eskokokokskokokokokokokokokokokokokoskokokokskokokokskokokokskokokokskokok ok skokskskskokokokskokskokskokskokkok sk okksk ok ok sk okok ok kok /

void int1(void)
{
if(FM3_EXTI->EIRR _f.ERO)
{
FM3_EXTI->EICL_fECLO = 0;
Psw1();
}
else if(FM3_EXTI->EIRR_f.ER1)
{
FM3_EXTI->EICL_fECL1 = 0;
Psw2();
}
Else
{
FM3_EXTI->EIRR = 0x0000;
FM3_GPIO->PDOR3 "= 0x000c;

/Aeskokokokskokokokokokokokokokokokokskokokokskokokokskokokokskokokokskokok ok skok ok skskokokokskok ok ok kokskokokskkoksksk sk ok sk ok ok ok kok /

/* Initialize task

/eskokokokskokokokokokokokokokokokokskokokokskokokokskokskokskokokokskokokokskokokokskokokokskok ok ok skokskokkokkoksk sk kok sk ok ok ok ok ok /

void uinit_task(void)
{
ER ercd;
UINT intst;

T_CTSK ctsk;
T_DINT dint;

static INT led1_stack[0x400/4];
static INT led2_stack[0x400/4];

/*system clock set*/
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157 DI(intst);

158

159 SysTick_init();

160 sys_init();

161

162 dintintatr = TA_HLNG;

163 dint.inthdr = int1;

164 ercd = @ /* Define Interrupt */
165 if(ercd != E_OK){while(1){}}

166

167 El(intst);

168

169 LCD_sys._init();

170 LCD_init();

171 LCD_reset();

172

173 LCD_gotoxy(0,0);

174 LCD_sendstring("uT—Kernel”);

175

176 LCD_gotoxy(0,1);

177 LCD_sendstring(“Int Handler”);

178

179 ctsk.exinf = (VP)1;

180 ctsk.tskatr = TA_HLNG | TA_RNGO | TA_USERBUF;
181 ctsk.task = ledT;

182 ctsk.itskpri = 1;

183 ctsk.stksz = (W)sizeof(led1_stack);
184 ctsk.bufptr = led1_stack;

185 LED1_ID = tk_cre_tsk(&ctsk);

186

187 ctsk.exinf = (VP)2;

188 ctsk.tskatr = TA_HLNG | TA_RNGO | TA_USERBUF;
189 ctsk.task = led2;

190 ctsk.itskpri = 2;

191 ctsk.stksz = (W)sizeof(led2_stack);
192 ctsk.bufptr = led2_stack;

193 LED2_ID = tk_cre_tsk(&ctsk);

194

195 tk_sta_tsk(LED1_ID, NULL);
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196
197 }

tk_sta_tsk(LED2_ID, NULL);
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/%

*
* micro T-Kernel
*
* Copyright (C) 2006-2008 by Ken Sakamura. All rights reserved.
* micro T—Kernel is distributed under the micro T-License.
*
* micro T-REALOS/M3
*
* Copyright (C) FUJITSU SEMICONDUCTOR LIMITED 2010 All rights reserved.
* This product uses the Source Code of micro T-Kernel under the micro
* T-License granted by the T-Engine forum (http://www.t—engine.org).
* Last update : 2010/05/11
*
*
* Version:  1.01.00
* Released by T—-Engine Forum(http://www.t—engine.org) at 2008/02/25.
*
*
*/
/%
* init_task.c (usermain)
* User Main
*/
#include <tk/tkernel.h>

#include “init_task.n”

#include “mcu.h”

#define USE_WDG 0

#if USE_WDG ==
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#define WDG_CTL (*(volatile UW *)0x40011008)
#define WDG_LCK (*(volatile UW %*)0x40011C00)
#endif

ID LCD1.ID;
ID CYC1.ID;

unsigned int sec = 0;
unsigned int dsec = 0;
unsigned int min = 0;

unsigned int dmin = 0;

extern void _reset( void );

EXPORT int main( void )
{
#if USE_WDG ==
WDG_LCK = Oxlacceb51;
WDG_LCK = 0xeb331aae;
WDG_CTL = 0x00000000;
#endif
_reset();
while(1);
]

/Kskskokskskokokokokokokokokokokokokokokokokskokskokskokokokskokok ok skokok sk skokokokokok ok okkokokskokokokskk sk ok koksk ok sk kok ok ok kk /

/* LCD TASK

/skokokakskokokokokokokokokoskokokokoskokokokskokskokskokokokskokok ok skokok ok skokokokokok ok okskokokskokokokokk sk ok koksk ok sk kk ok ok kk /

static void Icd1( INT stacd, VP exinf )

{
ER ercd;

ercd = D /* Start Cyclic Handler */

if(ercd '= E_OK)}{while(1){}}

LCD_gotoxy(2,1);
LCD_sendstring(”:");
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110
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112

while(1)

{
LCD_gotoxy(0,1);
LCD_sendchar(dmin+'0");

LCD_gotoxy(1,1);
LCD_sendchar(min+'0’);

LCD_gotoxy(3,1):
LCD_sendchar(dsec+'0’);

LCD_gotoxy(4,1);
LCD_sendchar(sec+'0";

ercd = tk_slp_tsk(TMO_FEVR);
if(ercd '= E_OK){while(1){}}

/Fkdrkokokiokkokokkokokkiokokkokokokokkookokkatoksokkstoksookstokookdokstokstorktok ok /
/% CYCLIC HANDLER
*/

/Fskokokskskokokskokokokokokokokokokoskokokokskokokokskokokokskokok ok skokokokskokokokokok ok okkok ok kokoskokokk sk ok skoksk ok sk sk ok ok ok kk /

static void cyc1( INT stacd, VP exinf )

{
ER ercd;

sectt;
if(sec==10)
{

sec=0;

dsect+;

if(dsec==6)
{
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dsec=0;

min++;

if(min==10)
{
min=0;

dmint++;

if(dmin==6)

dmin=0;

ercd = tk_wup_tsk(LCD1_ID);
iflercd '= E_OK){while(1){}}

/Fskokokskskokokokokokokokokskokokokskokokokskokokokskokokokskokok ok skokok ok skokokokokok ok okkok ok okokskokskok sk ok skoksk ok sk sk ok ok ok kk /

/* Initialize task */

/Fskokokskskokokokokokokokokokokokokoskokokokskokokokskokokokskokokokskokokokskokokokokok ok okskok ok skokoskokskk sk ok koksk ok sk sk ok ok ok kk /

void uinit_task(void)

{
T_CTSK ctsk;
T_CCYC ccyc;
static INT Icd1_stack[0x400/4];

/*system clock set*/
SysTick_init();
sys_init();

LCD_sys._init();
LCD._init();
LCD_reset();

LCD_gotoxy(0,0);
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153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170 }

LCD_sendstring(“cyclic handler”);

coyc.exinf = (VP)1;
ccyc.cycatr = TA_HLNG;

ccyc.cychdr =cycl;

ccyc.cyctim = ® /* Cycle Time = 1s */

ccyc.cycphs =0;
CYC1.1D = ® /* Create Cyclic Handler */

ctsk.exinf = (VP)1;

ctsk.tskatr = TA_HLNG | TA_RNGO | TA_USERBUF;
ctsk.task = ledt;

ctsk.itskpri = 1;

ctsk.stksz = (W)sizeof(lcd1_stack);

ctsk.bufptr = lcdl1_stack;

LCD1 ID = tk_cre_tsk(&ctsk);

tk_sta_tsk(LCD1_ID, NULL);
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*
* micro T—Kernel
*
* Copyright (C) 2006-2008 by Ken Sakamura. All rights reserved.
* micro T—Kernel is distributed under the micro T-License.
*
* micro T-REALOS/M3
*
* Copyright (C) FUJITSU SEMICONDUCTOR LIMITED 2010 All rights reserved.
* This product uses the Source Code of micro T-Kernel under the micro
* T-License granted by the T-Engine forum (http://www.t—engine.org).
* Last update : 2010/05/11
*
*
* Version:  1.01.00
* Released by T—-Engine Forum(http://www.t—engine.org) at 2008/02/25.
*
*
*/
/%
* init_task.c (usermain)
* User Main
*/

#tinclude <tk/tkernel.n>

#include “init_task.h”

#include “mcu.h”

#define USE_WDG 0

#if USE.WDG ==
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#define WDG_CTL (*(volatile UW *)0x40011008)
#define WDG_LCK (*(volatile UW *)0x40011C00)
#endif

ID LED1.ID;
ID LED2.ID;
ID LED3.ID;
ID CYC1.ID;

extern void _reset( void );

EXPORT int main( void )

{

#if USE_WDG ==
WDG_LCK = Oxlacceb51;
WDG_LCK = 0xeb5331aae;
WDG_CTL = 0x00000000;

#endif

_reset();

while(1);

/Fkskokskokokokokokokokokokokokokokskoskokokokokokokokoskokskokoskokskokokokskokskokokokskokskokskok ko skokokokskok ko skok sk kskok ok ok k /

/* LED1 TASK
*/

/Fkskokskokokokokokokokokokokokokokskskokokokokokokokoskokskokskok sk skokokskokskokskokskokskokskokskokskoksk ok skok ko skok sk ok skok ok ok k /

static void led1( INT stacd, VP exinf )
{
while(1)
{
FM3_GPIO->PDOR3 = 0x001c;
FM3_GPIO->PDOR3 "= 0x0004;

/Fkskokskskokokokokokokokokokokokokskoskokskokokokokokokokkskskokskskokokskokskokskokskokskokskokskokskokskokskok ko skok sk kskok ok ok k /

/* LED2 TASK
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*/

/Fkskokkokokokokokokokokokokokokokskoskokokokokokokokokokokokoskokskokskokskokskokskokskokskokskokskokskokokokskok ko skok ok ok skok ok ok k /

static void led2( INT stacd, VP exinf)
{
while(1)
{
FM3_GPIO->PDOR3 = 0x001c¢;
FM3_GPIO->PDOR3 "= 0x0008;

/Fkskokskokokokokokokokokokokokokokskoskokokokokokokokoskokskkoskokskokoskok sk okskokskokskokskokskokskokskokokokskok ko skok ok ok skok ok ok ok /
/* LED3 TASK
*/

/Fkskokskokokokokokokokokokokokokokskoskokokokokokokokoskokokokoskokskokokokokokskokskokskokskokskokskokskokskokskok ko skokok ok skok ok ok k /

static void led3( INT stacd, VP exinf )
{
while(1)
{
FM3_GPIO->PDOR3 = 0x001c;
FM3_GPIO->PDOR3 "= 0x0010;

/Fkdkkokokkokokkokkokokokoroksokkaokokktokokokstokookstokkorokstokskatoksokkatoksdorksdokskorokdok /
/* CYCLIC HANDLER
*/

/Fkskokkokokokskokokokokokokokokokskoskokokokokokokokoskokkokoskokskokokokskokskokskokskokskokskokskokskoksk ok skok ko skok sk ok skok ok ok k /

static void cyc1( INT stacd, VP exinf )

{
ER ercd;

ercd = @ /* Rotate Ready Queue */
if(ercd '= E_OK){while(1){}}
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110

111

112 /xkkrpkkhkkiokkiokkkiokkiokkkokokiokkokokiokokkokkokokokokokokkokokokokkookokdokokokok /
113 /* Initialize task */

114 /xkkrblkkkkkokkiokkkokkiokkkokkiokkkokokiokkkokokokokkokokokokkokokkokokkookokdokokokk /
115

116  void uinit_task(void)

17 {

118 ER ercd;

119

120 T_CTSK ctsk;

121 T_CCYC ccyec;

122 static INT led1_stack[0x400/4];

123 static INT led2_stack[0x400/4];

124 static INT led3_stack[0x400/4];

125

126 /*system clock set*/

127 SysTick_init();

128 sys_init(Q);

129

130 LCD_sys_init();

131 LCD_init();

132 LCD_reset();

133

134 LCD_gotoxy(0,0);

135 LCD_sendstring("uT-Kernel”);

136 LCD_gotoxy(0,1);

137 LCD_sendstring(“time sharing”™);
138

139 ccyc.exinf = (VP)1;

140 ccyc.cycatr = TAHLNG | TA_STA;
141 ccyc.cychdr = cycl;

142 ccyc.cyctim = @) /* Cycle Time = 1s */
143 ccyc.cycphs =0;

144 CYC11ID = ® /* Create Cyclic Handler */
145

146 ctsk.exinf = (VP)T;

147 ctsk.tskatr = TA_HLNG | TA_RNGO | TA_USERBUF;
148 ctsk.task = ledT;
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150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177
178 }

ctsk.itskpri = 2;

ctsk.stksz = (W)sizeof(led1_stack);
ctsk.bufptr = led1_stack;

LED1 ID = tk_cre_tsk(&ctsk);

ctsk.exinf = (VP)1;

ctsk.tskatr = TA_HLNG | TA_RNGO | TA_USERBUF;
ctsk.task = led2;

ctsk.itskpri = 2;

ctsk.stksz = (W)sizeof(led2_stack);

ctsk.bufptr = led2_stack;

LED2.ID = tk_cre_tsk(&ctsk);

ctskexinf = (VP)1;

ctsk.tskatr = TA_HLNG | TA_RNGO | TA_USERBUF;
ctsk.task = led3;

ctsk.itskpri = 2;

ctsk.stksz = (W)sizeof(led3_stack);

ctsk.bufptr = led3_stack;

LED3 ID = tk_cre_tsk(&ctsk);

ercd = tk_sta_tsk(LED1 ID, NULL);
iflercd '= E_OK){while(1){}}

ercd = tk_sta_tsk(LED2_ID, NULL);
iflercd '= E_OK){while(1){}}

ercd = tk_sta_tsk(LED3 ID, NULL);
iflercd '= E_OK){while(1){}}
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@ tk_ext_tsk(; @ tk_sta_tsk (LED1_ID, NULL) ;
B tk_sta tsk(LED2 ID,NULL); @ tk_sta tsk(LED3_ID, NULL);

HE2 EBRFSEER

@ tk_wup_tsk (LED2_ID) ; @ tk_slp_tsk (TMO_FEVR) ;
@ tk_wup_tsk (LED3_ID) ;

EE3 v+

M tk_wai_sem(SEM1_ID, 1, TMO_FEVR) ; @ tk_sig_sem(SEM1_ID, 1) ;
@ tk_wai_sem(SEM1_ID, 2, TMO_FEVR) ; @ tk_sig_sem(SEM1_ID, 2) ;
® tk_wai_sem(SEM1_ID, 3, TMO_FEVR); ® tk_cre_sem(&csem) ;

W4 AT

M tk_wai_flg(FLG1_ID, 3, TWF_ORW, &otn, TMO_FEVR) ;
® tk_clr_flg(FLG1_ID,0);

@ tk_wai_flg(FLG1_ID, 3, TWF_ANDW, &otn, TMO_FEVR) ;
@ tk_set_flg(FLG1_ID, flg);

® tk_cre_flg&cflg);

BWE5 A=IEKYHIR

@ tk_rcv_mbx (MBX1_ID, (T_MSGx*x)&rx_mai |, TMO_FEVR) ;
@ tk_snd_mbx (MBX1_ID, (T_MSGx) &tx_mail) ;
@ tk_cre_mbx (&cmbx) ;

HE6 ZhAANNKD
1 tk_def_int (20, &dint) ;

w7 RARNRS
@ tk_sta_cyc(CYC1_ID); @ 1000 @ tk_cre_cyc (&ccyc) ;
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@ tk_rot_rdq(TPRI_RUN) ;
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